Class 7 (Social Science)

Ql --—--
Ans: - b.) metamorphic rock

Q2 -
Ans: - a.) Writing in praise of somebody
Q3 -
Ans: - b.) animal forms

Q4 --—--

Ans: - d.) Chairman

Q5 --—--

Ans: - c.) get paid for her work

Q6 --—--

Ans: - Sex is the biological factor of a person which --------------- a boys or a girl gender is a
Social factor.

Q7 --—--

Ans: - The members of the Vidhan Sabha called MLAs they are elected the duple as
Member of the legislative Assembly . The MLAs are elected Through Assembly
Election Poll. Recording & the no of eats allotted to an Assembly Concerning. The
political party whose MLAs win the majority in the state form the government.

Q8 ----
Ans: - Muhammad -Bin-Tughluq shifted his capital to Devogiri because —

1- he felt that his administration word be better from there.

2- He wanted to be safe from the constant threat of Mongols to Delhi.

Q9 --—--
Ans: - The distribution of air pressure is informed by temperature of air at a given place
horizontally. In areas where temperature in high air gets heated & rises. So it creates a
low pressure area. This causes cloudy Skies & wet weather where the tamp is low, air is
cold. Heavy air sinks and creates high pressure area. This causes clear sky & sunny
weather.
Q.10
Ans: - 1) Sand dunes —formed when wind stops blowing in the deserts sand falls & gets
deported.
2) Mushroom rock-In the desert, winds erode the lower section of rock more then
the upper part.

Q.11
Ans: -  There is a close relationship between the height of land & the character of



Vegetations. With change in height, the climate changes and that changes
natural vegetation because of change in temperature & pressure. There are rain
forests & hospital forests near the equator where as towards the poles we see
coniferous forests.

Q.12

Ans: - The harbor of London does not freeze in winter because of the influence of the
gulf stream which sends a warm ocean current flowing from the gulf of Mexico &
the shores of western Europe.

Q.13
Ans: - Balban asserted his authority over the nobles by
a) He crushed the results of the Turkish nobles by transfusing them as places away
from Delhi.
b) He declared that the sultan is the represent of the God on Earth.

Q.14
Ans: - Merchant guilds were trade association They negotiated with the Lords &
regulated the trade levy They controlled the way in which trade was conducted.
They made rules and applied in for trade in the medieval Indian.
Q.15
Ans: - The governor is a appointed by the central government to ensure that the state
government works within the rules and regulation of the constitution. The
governor of the state apparatus the chief Minister & other Ministers after the
election.

Q.16
Ans: - Public health services is better then privet health services because —
i) Itis an essential and mandatory function of the government .
ii) It reached every part of the society and even in the rural areas .
iii) Medical aid is free for poor people and District Hospitals provide treatment
for all kinds of ailments while provide health services are costly . They give
specialized treatment for specific diseases/ailments and treatment is costly .
iv) Itis also not readily reachable at all location by all people.
v) Private health services are also not essentially covered by insurance for the
poor people.

Federal system of government is useful in India for the following reasons —

i) There are three levels of government — Central government , State
government , Local government .
Each level of government administers at the same level and the some region
their jurisdiction is different and of their own .

ii) Taxation, administration and legislation is their own .



iii) Each level of govt. abides by the constitution of India .

Q.17
Ans:- Soil conservation is necessary because it saves soil from fresh water and restricts
erosion soil conservation is necessary to protect regulation & rainfall .
To protect erosion of soil we can increase forestation, terrace farming in the
mountains , Plant trees at road sides and protects human from being wasted away

by rain .
Or
Flood plans are densely populated because —
i) Soil in these plans is fertile and cultivation is dense .
ii) Flood plains are flat and contain all the vial soil so they are good for
agriculture .

iii) People who depend on agriculture and marine food live in this plains .
Most of our civilization have developed in these flood plains .



